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No. 1 carries 1 mark each (any Six)...........
No. 2 carries 2 marks each (any five) ...
No. 3 carries 4 marks each (any three)......
No. 4 carries 6 marks each (any o) o
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No. 7 carries 4 marks each (any three)......
No. 8 carries 6 marks each {any two) ........
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' { | POLITICAL SCIENCE
1. Answer any six from the following questions : 126=5 ; _
ffeire 2HPREs =9 Rz 25 e Ted fore < | e o R
T - i - (Part-A =40 + Part-B = 40)
TS el (I - _me@wmﬂig Pass Marks : 24
MeEM SEeRE SEfEs REIECRE R o fow - Time : Three hours

(@) India is a member state of ASEAN. The figures in the margin indicate full marks

(Write Yes /N
/No) for the questions.

OFe SERaT 775 FE |

(Z3/ 957 fayar)
©iFe Gf«I=E (ASEAN) 5%y [1E | S . | ‘ PART-A (¥ -9I%)
TRl T AR l . Q. No. 1 carries 1 mark each (any sixj............... 1x6 = 6
i . (7{7ﬁ/:]g7 7%’?) Q. No. 2 carries 2 marks each (any five) ............ 2x5 =10
i 2 ; Q. No. 3 carries 4 marks each (any three)........... 4x3 =12
(Bl iluoican exerelse the e power {E3ds SeCurity Council ? Q. No. 4 carries 6 marks each (any two) ............ 6x2 =12
‘ Total =40

Tqlerel Affane ‘(b el (@It e ST o o
PART-B (4 -9%)

el siffam ‘cetl el (T @il TS A2 , : -
‘ Q. No. 5 carries 1 mark edach’ (Any Six).. . doeas. 1x6= 6
Y ST A e’ e e a2 O o, G e T Gholblanaamadl i avr e 12
(c) Whiéh State is the successor of the Soviet Union ? Qe & o wilt 1o soednacm M S5 ?g‘ff%
(RIfeTs 2Time TealfsIat a1g @z 2
28 [ POSC (24 ‘ ' Contd.
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PART-A / F-9% [ $-9 [ F-swrm
( Contemporary World Politics)

( e 4 reie )
( SR Rt )

( s GEfs G TASTEI-oT )

Answer any six from the following questions : 1x6=6
e eEEEa AN e BT R T o
Erafe e (A @@ B e Te T
e SRR SEREsTE BT R R
(a) Iﬁdia is a member state of ASEAN.
oS iR 7T TG |
- ore GFEIER (ASEAN) 07 A1 | St )
ey Wiy SR B ( ?fTﬁ/?@# -
(b) Who can exerci_se the ‘veto’ power in the Se curity Council ?
Fieil ~{RETS ‘COV TSl G A R e
Ralerel #ifFam e el P TN TS spiryy
e s OR 9 TR TRER TRy |

(Write Yes/No)

(/723 far4r)

: is th .
(o) WiliRarStiite: 1S HAE EH e e e o, -
aifens Tofaad TealEaRl A% @ o

(2l

(d)

(e)

()

Clifers TR Seafieid 7ig @ e
HiET WY STRAEiR BeT 99 T sy ?

Which country is regarded as the third alternative centre

of world power ?

o Rem e FTEeT I @ o (Rl 3 7
oAfey HAPTR TR e Bt = arewEl S s
Write the full form 6f SAFTA. |
SAFTA 3 77 Zo[(G! rai |

SAFTA-g7 5=} 7S caalt|

SAFTA—%’ g HEq i ?

Which day is celebrated as United Nations’ day ?

@ iR AR e Twieie w1 53 ¢

(9)

25 / POSC

(I Mabre AR M1 Sqalem st 239

T AN TR 814 9H I S ?
Write Yes’ or No’:
TN G2 ey i
£l w'e/%r GG
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(h)

Technology is an important phenomenon of globalisation.
eyl frimea 6 ewal TR

e fml IR o ww@ge)d e |

et TR THER GTTeT ST |

What is Greenhogse gas ?

Fraies o Fr

TS T 12

ert ' TE WY
(i) In which year India sg-cceSSfUH}’ tested its first nuclear
bomb ?
(PR TS SIRCS I AT AT ReeTolra ooy itz ?
PR TR SIS 2 AT o0 TreTof 3t ooty <t
() What is the full form of WTQ 7
WTO @ 7= 0I5l &2
WTO-aa 7= %A S
WTO-f @7e Wew 2
25 / POSC 14

2. Answer any five fl‘OI’l;l the following questions : 2x5=10

frafeiie empiaes 2/ R e w2 S B g

fr=fels esiafel (AT @ Al e Sen Al ¢

e FHEHRA STt S e 7o)

(a) Write the theqry of UN which defines the i:nciigenous people.
PR GIliRel TATE e fral el el
OISl FTe(ch AgPseem (rem weelfS el |

- ofiifer GIBRA WA S0 21T BFE daE) fom |
Or /%1 / w2t / war '
Write short note on : Sacred groves in India.
53 (Orel fo74l ¢ ©IRes #ifie $&3 |
 wefeg Rl (Al ¢ SiRTeR ‘f*rﬁ‘ééj@,ﬁm
Tz feram@ o : 9Raft MeR e o |

(b) Mention any two countries in South of India who are the
members of SAARC.

wiered A S Sl BT Rl 7 e aige A G

OReA il s SRS SAARCR (I~ 715 57y A i
@Al | |

I e A A SAARC 1 SfEs SR e e o
fert | |

25 / POSC ' [S]
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(c) Write two causes of disinfegration of Soviet Union.
@t T dfessaem 7br Fe & |
FfoTe TOFE feeTMR 75 T (@l
gfudd Ty SRSEEA i ST for |
(d) What is meant by South Asia ?
wiwwel afeal 6 2
vire @l @O TR
e Tfe g | g ?

(e) ‘Mention two causes for the failure of stable democracy in
Pakistan.

E@g DRIOR] feviE CFaw ‘?{ﬂ%@m z[;qf-@@ qu @Zﬁﬂ —

i slrog AfoPA CFLE SR o 7 S Sz <l |

-

WW@@@W%WWW%‘

(f) Write the permanent member Nationg of Security Bl
{ ou

ﬁq{cp@ 9{%3’@ ?@Wﬂ@ ﬁa‘ﬂﬂqm%ml

ﬁmwﬁﬂ9@?@¥?ﬁ1ﬁﬁﬁﬂ@@%@:mlﬁvml

Ty nygEf (@Rl T b RISy 5 o
I

25 / POSC - [6]

3. Answer any three from the following

questions 4x3=12
fafeire e wa R oR5 o Ses B

s axef@ (A @ R es S e

W@WWWWWW;

(a) Write two arguments in favour of and two arguments against
Globalisations.

i 751 2SS W 757 @ g e

s 7 2T G 7 Wfeans IR (el |

(b) What is the necessity of International Organisation in the

world ? Explain its role.

oo TGAGR O S R 7 T ol i <)
vy wwEAlgla AR ) e @7 el =0 I |
e w R SRR W 2 A e

(c) Identify the causes of conflict between India and China

and suggest your solutions.

oIFe Tk b e Ras [Mawmz bfze w0 @i comm sfapssd
CigEuasl

25 / POSC [7] Contd.




(d)

(e)

SES @3 SiEE W REied TaaeE *mie @  ag comg 2l
o F0El |

~ N~

TR SR AL TR <t A S STEAwRE T SR et

g I Bl

Or /1231 / @] / war
Write a note on European Union. |
TCEIAE AT e%r%@_élﬁi COTRl fovll |
‘a\@éréﬁﬂ FLIA T G bR IR |

What is the Balance of Power ? How ¢
: an a country maintain
this balance ? 54

HroR S 2 9¥ T2 T e st
S S L et ik 7= 2

TSR SRR F17 4T AG R ORI Srere T A2 A ?
: e S qIR0e ed e
' » ToTET 2Ty 2

How is the relationship between [pq:. _ _

ndla and N )

: epal ?
RS S AR R TE () o
OIS @R AT A TF Siggo o

W S St TR A

25 / POSC (8]

4. Answer any two from the following questions : 6x2=12
VRIS eHpTRE 2/ [ ghr e e e ¢

frefils aaef @ @@ 7o otsd Sed (el ¢

TR ST Ji S R o
(a) What is the stands of India for environmental issues ?
“Afe SR A g R gl 2
s TS A okred ol 19
e fafred wRd g™ fawEn gz ?
Or/ Fn’i?ﬁ/_ &2l / qar

What is the relationship between the rights of indi‘genous.

people and environment ? Discuss briefly.

RG] SEPIAREE S S AR e 70 & ?ET@SW
4 |

G GEPTIMIRTER SIS @8 ARGER S0y T0F e wermeet
Slciraisail

oqfiTfer GBI FRE ST SR TSR Wrien m ? ged e |

25 / POSC | (9] Contd.




(b) What is Shock Therapy ? Is this the best way for transition : PART-B / 4-9 / 4- 9t / @-agmit
e L (Politics in India Since Independence )
‘ 4 ( TFices elveq (T CY
5% (2919 7 AAME 21 Grozamis] #Ra%H 39w 36! 5l ol ' ‘ s
o ( FSices elres Femfe )
A2l wfes A 2 :
( SSIET 3Tq YRl TrsrEter ).

“I (Shock) it e ' CQIZ??“‘ OFINT ~FT6 70 Ty 5. Answer any six from the following questions : 1x6=6

& afs <= el A e fefeiie ePTRT 71 Rerar 56 ek Tes o s

w9 (Shock therapy) H? WHSERHER tiafemeefan | RS el e (TP JFG A0 O (o7l ¢

: : ! (a) In which year Bharatiya Janata Party was formed ?
(c) What is human security ? Discussg briefly. _

SRS Gol 7l (B 5T 59 ] Cafde 2

i fterel 19 ¢ DR el 4 SRSt el SifF (PR A 19 < e
\Yls $ A : s ¢

TR Rl F12 AR @D g R Sl qiEEl |1 AENEE SEE See 2
= gt T W2 Hﬁa | (b) Which Party won the 1977 General Election ?

1977 bR RA6AS (FICE! wie THene SR o

1977 AR FRIGE @ 7 SEeie e 2
1977 ARAER foaaefaEE o e e 2

25 / POSC [ 10] ' 25 / POSC _ [ 11 ] Contd.




(c) Which princely state conducted election on the basis of

Universal Adult Franchise for th_e‘ first time ?

@A (TR e AT A ATGEE ohigmE Tifes igwe

o emTe % ?
I G AT (SRR TSR S (PR (7 A
o orfoe ZlEE?

o e i et areE A S el A g e
W?ﬁfaqm@faaﬁﬁ??

(d) Who was the Prime Minister of India after Pt. Jawarharlal

Nehru ?
SR (A PIes ORed eANEl (I Wi ¢

TeTTE (TR AR OIRoR Al (S BreE
ST RE S A MR 6 R SRR ?
(e) From which year the first Five Year Plan was started ?
@mmmawmzrﬁawﬁﬁmw@@?
IR A (AT AL ol ARTEA 9T e o

o e e e SRR i e
[12]

25 / POSC
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(f) - What is the full form of EVM ?
EVM 7 =7 S{751 fevei |
EVM-=G3 =2 weilS coean |

EVM-f1 a1g #7eq @7 ?

(9) Who was the chief architect of India’s foreign policy >

CIeq (@I ifeT 341 el 361 sie @i 27 ?

wiren [o Jifen 347 2wl s w1 =70

T T FI AT I SRR el g

(h) When was Sikkim merged with India ?

(1)

25 / POSC

B (wlon ©Res 759 5ifiE tafee o

Who was the first non-Congress Prime Minister of Indig ?
SR SRR ALTIE (I wifeE 2
SlECeA ALT T ALTIG] (g 0

a1 ffe st 9 TR A R G 2

[13]
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When was Assam Movement or i : ; '
en wa ganised on foreigners (c) On which date draft of the Indian Constituti
; # ution was Sigl‘led

()
+dssie? and it came into force ?
Rrdll Fayie T PR SR (SOl A0S o ? | (T OIRTY ORST RRUT 631 A (e W 3 cofemia
. PR : : X B UR #F]
i 1 FR (e 2
I TGS T TN SITwes 6@ Hsie W[ﬁzﬁ‘? 2| |
| | @F Sifditd SRred WRKEE Yeite
~ e A X 4 T k R ' ; © vﬁm C*| ° =
I SATE AN AT SO e ST SR ? ” AR @R @ "
! (AT FIIFA! TR 2 |
6. Answer any five from the following questions : 2x5=10 , o1 WA IRAM HefseH Twm@e grm (H9E) T e sy
e eEiTRs 2ASl farizen #ioor 2%iS Teq et o _ _ ;
' : (d) Mention two objectives of Nehru’s forei :
SR el (@ @I A5 AR Sen oy . £f Rehcy &
| ' ‘ (A ([T IS 701 SO Srame 3 |

(F2wd @RS "ifed 7o Soael SrEe I

et SREERE SEtEsE e S fow
el A BRUR w9 gife few

(a) Explain the concept of ‘whip’.
(e) Write a note on NDA.

NDA 3 @qe @fb (Gl o |

NDA~G8 B @30 BIFl (Tl |

gze” QIR A 9

Whip’ @i 0 FCE

Whip’® GFETEEl HRAT | . ,
(b) Write a short note on: White Revolutigy NDA-f 9 Ay forgem for |
59 GBI Bl 2w fed (f) Why was State Reorganisation Commission set up ?
e ~ i e 5
sefine Tl @Il 8 0% fea . g Rl RS
: | s SISl 1o AR (2
e e : T s _ qren AT
s Qe S A S S 2
25 / POSC [14] o |
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Answer any three from the following questions : 4x3=12

Frafefile oRPEa a1 Rl fofest e B fore
CHGICNEERRIGEH] m—@?fﬂf?_ﬁﬁqﬁﬁ TEd (@A g .

e AAEERAER SEEST qH9mH 5 ol e

(a) How did the fourth General Elections in 1967 change the
dynamics of Indian politics ? '

wre AEAles AGAFTOR 1967 51 59 AMRel Rt R

TG T ?

ST TG APEOIE 1967 ER ve 59 JAlize| 7o Seia

QIEESD m"fiﬁ"

qafy el SETHEEl 1967 WEAER Hrem forarrateran

(b) Write four features of India’s coalition government.
Cled ATS W1 GIFINE bIfE @R By
wlaCed WA GGl TR GR05 REg ceey
yRafy S o WhRH HEe SngaR o)

(¢c) How the problem of Reg'iornalism can be- solved ?
wieriama TEIG RRE TR iy sy
sFRrercE TP TN T 21 e Az 7

25 / POSC [16]

e
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Or /7RI / @33t / war
Give a brief note on Jammu—Kashmir.
G- e «ff (Bl B |
TY-FHIEE CAE 9T A T e |
S wRRE wEE 9 forgam e

(d) What were the causes for mid-term election in 1980 ?

1980 b TGIFETR WAbaT e & & wfee o
1080 FIER S RS FReef § ) o
1980-mwéﬁﬁ@?@ﬁ@wﬁﬁaﬁﬂmmmrhﬁ?
Or/W/W?/HT/an
Who announced Twenty Point Programme and why ?
ofe wer S @ Ol SRR @R @ e
e it e R PR o 7

(e) What is Green Revolution ? Discuss the economic and

polltlcal outcome of Green Revolution.
ve Red & 2 Cﬂ%ﬁﬁ@mﬁﬂ%‘wmﬁ:mww[

4] | ‘
(7] Contd.




e fe e S o SIS G TGS (] R
@ ‘ |

eyt <fifigen T 2 Thelt gt daeret ST TSrEt-eri R
e |

Answer any two from the folloWing questions : 6x2=12

ﬁ#ﬁ%wwﬁz@mgﬁm@@%mg
frsfiEe el (A - 7o AR BeR Gl

(a) When was the Bharatiya Jansangha formed ? Discuss it
| : ss its

8.

ideologies.

ﬁw\qmﬁﬁ—mﬁ??@ﬁwwwwwn

< oS wRd 5 T ? R M Ra sz

WWW%W?%W%WWW
Or /7 /@I / Tar

Analyse comparatively about the nature of
of Congress

dominance in India.

TRs AR TS TS T DR R

- R e

@mﬁwﬂ@ﬁavmﬁﬁwmﬁm -
" NCER gt

YA i Teara R

P TT—..

25 / POSC

B 3

) ‘N t are the ma.ln COI‘lSldeI‘atlons Of the merger OI FI 11 ](:el

(c)

Stat
e with United India ? Who played historical rol
ein it ?

RS WG
K WWWW%W%

vﬂiwmﬁ%‘ﬁwm@

SRS FISANE A% AGHITe qerelis Aferss -
ﬁﬁ?ﬂ?%ﬂ@%—ﬁm@ﬁm&q B

WEWWWWT@@@@&W
fafimRy o1 W2 o SECEE 9R TEE fwe wrne ?

What is Foreign Policy ? Explain briefly.
iR A 7 7 B < = )
AR o P12 IACHCA T |
T wTgSIR @A 12 G3d HRAY |
Or / ZF/ &4 / gar

Write a note on non-alignment in India’s foreign .Pol' '
' icy.

Wwﬁﬁf@@cﬁrﬁﬁaﬂwwﬂ%m%m,

WWW (AP -RC=Rel TE g3 Gl CETC'Q“‘I

st T HRELR w@nfefd dle M | (Non- allgnment) iy
i e e
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D e

(b) What are the main considerations of the merger of Princely

(c)

250"

State with United India ? Who played historical role in it ?

'WWQWWWWW%W%

5 7 <2 TS oI AP O ot ¢

Wﬂ:ﬂ@@?ﬂﬁ@@*ﬂﬁ@%@%ﬁﬂﬁwﬁﬁm
F F12 @B T At il & Fcafe?

T ST BTGTST TGRS TSI el S aremmma
T o1 W ? 9 TGRS UR MR fahe et 2

What is Foreign Policy ? Explain briefly.

R [ & 2 Bﬂ?ﬁf I =
TarAis e F2 FKCHA A TR
T TSI @Tﬁaﬁ m? g BRAME |

Or /A7 G / T
Write a note on non—alignmentl_in India’s foreign policy.
e @R AT G-Il T @S Rl B
i W TS CIBT-RRCorFel Tt @3l Tl ogay |
s g TSI W A W @i (Non-alignment) -
i e |

25 / POSC




